H10

2000cc

H10
1%

FID-GC

3%

10

S%

650cc

5%

12

1%

1500cc

2%
H12

H11
1800cc

1%

H12

4330cc

H11
3%

- 100 -

50 100cc

FID-GC
vol%

1.98% 0.73%
1%
75.3% 57.4%

10.15

11
1%
5% 3% 1%
3%
1%
24  44% 38% 44%

50%



18

‘/4 16

160

y = 27.83x + 42.90 / 14
140 R? =099 "

e / 12
120 / ¢ 10.15 | \
[ ]

100 11 10 .
/ 8

180

&

y = 49.69x %6
R? = 0.89

mg/km)

80 .
/ * ‘
y =5.16x + 24.66 6
60 7= 003 \
,/’ 4
2 A
20 v
: 0
0 1 2 3 4 5 0 50 100
volk)
2
1.9mg/km 15.0mg/km
mg/km
12.9 15.6mg
/km
1) 11 9 40
2) 12 6 24
5% 3% 1% 3) 12 9 41

- 101 -



- 102 -



